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LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

05:30 PM to 07:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

01:00 PM to 03:00 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL
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08 Dec 2021
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03:00 PM to 05:00 PM
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08:00 AM to 10:00 AM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL

15 Dec 2021
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LIVE PREMIUM
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10:30 AM to 12:30 PM
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22 Dec 2021

08:00 AM to 10:00 AM
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07:30 PM to 09:30 PM

LIVE PREMIUM

SILVER CARD
(SSC CGL & CHSL)

BILINGUAL
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29 Dec 2021

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

03:00 PM to 05:00 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL
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A certain number of persons sit in a row. All of them
are facing north. P sits third to the right of Q. Four
persons sit between R and P. S sits second to the left
of R. Four persons sits between R and E. E sits third
from one of the extreme ends. B sits sixth to the right
of D who is an immediate neighbor of R. As many
persons between E and D as many between Q and L.
L does not sit left of Q. K is fifth from one of the
extreme ends and one person sit between Land K. Q
does not sit left of D. K is not an immediate
neighbour of P.

s ARTT Ter A aFa s aFa d dod &1 3T Tt #1
AW ST A AT P, Q F T F AAY TATT AT | R AP
F fig I AfFd F8E1 S, R F 910 F gAY FATT WASTRI R
IReEFNTaraFa S T EFd e RfFarTIm
AT GT SSTR B, D & T ¥ TS TATT X 3T §, ST R T
Pecar A T EdR D FNa3aaficaFad Taaq
IRLFHTHATI L QF T T do18] K Fl v famT R
q 9 T W g R tF afFa gl LRk F g A dar
Q, D & 91T &1 3T &1 K, P T Ahead =iy 781 21
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[ | | | ‘ I(-Io)wmanypersonssitin row?
18
T T T T T T T T T TITT (s
| h B | h (C) 20
(d) 21
(e) None of these

How many persons sit between B and S?
(a) 7
(b) 9
(c) 10
() 8
(e) None of these
Who among the following person sit third to the left of L?
(a) Q
(b) P
(c)B
(d)D
(e) No one
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Four of the following five are alike in certain way
based from a group, find the one that does not
belong to that group?

(a) @-P

(b) D-S
(c) B-K
(d) K-P
(e) L-P

How many persons sit left of D?
(a) Nine

(b) Four

(c) Eight

(d) Seven

(e) None of these
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| s TFATA, B, C, D, E, F, G 3N H U gawR AT & | | Eight persons A, B, C, D, E, F, G and H sits

WWW*W%WWM%‘%I T gt around a circular table facing towards the

3T ITT-3eT9T QAR ¥ STk 1 F WWWETFT center of the table. All of them go to eight
uﬁiial % HEY ol U AfEd dore] trchsn?TaﬁT different cities. Only one person sits between F

ﬁtmmﬁaﬁ T & el ot sarfera and the one who go to Pune. Three persons sit

1581 D, qﬁaﬁara—qﬁ?ra;mﬁmmw bet th ho 20 to P Atk

Yort FaRa A AS T L, D#EI‘##E@'T etween the one who go to Pune and the one

TYTA X AT | AeTS STt aTek sqTFd 31 918 who go to Mumbai. D sits third to the left of

S a AT F AT AT AFT IS T H, 6 F the one who go to Pune. The one who is from

™ ¥ Y T W ST 81 H WHTHT%I G,A% | | Chennai sits second to the right of D. Three

T E EYTeT 9T 43T 3| F3N916 ST a1l s34, persons sit between the one who go to

G & ¥ W Y TAT W S8 B, TAWIA A | | chennai and the one who go to Bengaluru. H

m%imgﬁgﬁaﬁ? Tl sits second to the right of G. H go to Delhi. G

sits third to the left of A. The one who go to
Chandigarh sits third to the left of G. B sits
immediate right of the person who go to Jaipur.
C does not go to Mumbai and Kolkata. E does
not go to Chandigarh.
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Eight persons A, B, C, D, E, F, G and H sits
around a circular table facing towards the
center of the table. All of them go to eight
different cities. Only one person sits between F
and the one who go to Pune. Three persons sit
between the one who go to Pune and the one
who go to Mumbai. D sits third to the left of
the one who go to Pune. The one who is from
Chennai sits second to the right of D. Three
persons sit between the one who go to
Chennai and the one who go to Bengaluru. H
sits second to the right of G. H go to Delhi. G
sits third to the left of A. The one who go to
Chandigarh sits third to the left of G. B sits
immediate right of the person who go to Jaipur.
C does not go to Mumbai and Kolkata. E does
not go to Chandigarh.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

H(Delhi) Who among the following go to Chandigarh?

A(Chennai) D(Kolkata) (a)A(b)C(c)D(d)B(e) G

How many persons sit between A and G when counted from
G(Mumbai) right of G? (a) Two (b) Three (c) Four (d) Five (e) One

E(Pune)

Who among the following sits second to the left of the one

C(Chandigarh) B(Bengaluru) who is from Chennai? (a) G (b) A (c) D (d) B (e) C

F(Jaipur)

F go to which of the following city? (a) Mumbai (b) Jaipur

(c) Bengaluru (d) Chennai (e) Kolkata

Which of the following is true regarding B? (a) B sits
immediate left of D (b) B go to Chennai (c) B sits third right
of A. (d) C is immediate neighbor of B. (e) B go to
Bengaluru.
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There are six persons of different weights. Three persons are heavier than Rohan. Two person’s weight is in
between Sohan and Geeta. Rajesh is heavier than Rakesh but lighter than Ram. Neither Rakesh nor Geeta is
lightest person. Weight of 2nd heaviest person is 66kg. Weight of all persons are in whole numbers

HAI-3TSTIT ool & B <Afad ¢l Vg A i afFa a4y &1 Y =AY 1 9R AT 3 Aar &
AL H gl TAU [T T A § AfheT TH T goar g1 oF a T 3R 7 & Aar ged go
afFd 81 ga wad 0T AfFa 7 aorer 66 fFam 1 wsft safFaat &1 41X qof gear 7 7

What is the weight of Sohan?
(a) 67kg (b) 65kg (c) 64kg (d) 63kg (e) 62kg

ImR
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P@Q: It means that P is in East of Q
P#Q: It means that P is in West of Q
P$Q: It means that P is in North of Q
P%Q: It means that P is in South of Q
P(7)$Q means that P is 7m North of Q
P$@Q means that P is in North-east of Q

Paul and Raj are starting their journey from point V and U respectively
and both reaches at point W as per the given information

Paul- R(13)#V, S(8)%R, T(5)@$, X(4)%T, Y(10)#X, W(15)$Y

Raj- J(5)#U, K(11)$J, L(11)@K, M(4)SL, N(5)@M, W(10)%N
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If point A(2)%R then, what is the direction and shortest distance of A with respect to U?
(a)A(15)s@U

(b) A(16)@U

(c) A(16)S@U .
(d) A15)@U L

(e) None of these K—= Lom

11m

U is in which direction with respect to V? | R m
(a) US@V  (b)U%@V  (c) U%#V 5m_ R
(b) (d) U#V  (e) Noneiis true om

15m

4m

5m T

S

10m 4m
Y X

40
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Which of the following is true?
(a)MS@X (b) U%@N  (c) U#R (d) J%#HV (e) None is true

If B(5)@L and C(8)#W are true then, what is the shortest distance between B and C?

(a) 5m (b) 10m (c) 15m (d) 20m (e) None of these
M 5m N
K 11m L 4m
10m
11m
LW
R 13m v
5L . __Zm
| U A
bm
15m
g bm T
10m 4m
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3Te<aFdA, B, C, D, E, F, G,aﬁTHamsaﬁm
T3 FRI I THE FIA ¢ FYTd| SvAssey, 3131
SRiYer, 3T, 21T, WS, TSt 3R FITET ArpeT
ST AET foh 3T HH A 811 3 T IAM-37e9T
mmmm%mﬁm OPPO, VIVO, Karbonn,
JI0, Apple, Nokia, REDMI, 311X Realme AT STl
CHEGIE TR Eﬁmmmﬂﬁ%l
F &Y 3ircqY 3t fiat Aarea qug A8 1 FreeT
AETST THE I aTell S TFd KIA Cars THE HIdT
g1 D I foray AMars gug 81 98 afad o
TCUS ANETS THE ¢ 39 Toall, dIvassey 3N
TS R T 78T &1 H FY A Rasa v8g §1
dY B T 1 C ) ToU ol ANSIS 9HE ¢ | F Y 3T FR
qHS ¢ 3R E I dluAsescy FR 940 ¢ G FY FIeel
AaTSe qwE ¢ ¥1 aE saea o Ao
AlTZe THE ¢ 3 TTET R THE &1 C P e, BIS
3T 3T FR g 71T § 1 a8 sufed o MG F1
qde ¥ 3910 3R oPPO RSB THE AR &1 G Y
&EaT 31 B1E FR g TG T

Eight persons A,B,C,D, E, F, G, and H like
eight different cars viz. BMW, Audi, Toyotaq,
Tesla, TATA, Ford, MG, and KIA but not
necessarily in the same order. They all likes
different mobile viz. OPPO, VIVO, Karbonn,
JIO, Apple, NOKIA, REDMI, and Realme but
not necessarily in the same order.

E does not like OPPO mobiles. F does not like
OPPO and VIVO mobiles. The one who likes
Karbonn mobile likes KIA Cars. D likes JIO
Mobiles. The one who likes Apple mobile
does not like MG, BMW, and Audi Cars. H
likes REDMI Mobile. Neither B nor C likes
Apple mobiles. F likes Audi Car and E likes
BMW Cars. G does not like Karbonn
mobiles. The one who likes NOKIA mobiles
likes TATA Cars. C does not like TATA, Ford
and KIA Cars. The one who likes MG Cars
does not like JIO and OPPO Mobiles. G does

nat ivae Taclaa Aand Eard CAave
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Eight persons A, B, C, D, E, F, G, and H like
eight different cars viz. BMW, Audi, Toyotaq,
Tesla, TATA, Ford, MG, and KIA but not
necessarily in the same order. They all likes
different mobile viz. OPPO, VIVO, Karbonn,
JIO, Apple, NOKIA, REDMI, and Realme but
not necessarily in the same order.

E does not like OPPO mobiles. F does not like
OPPO and VIVO mobiles. The one who likes
Karbonn mobile likes KIA Cars. D likes JIO
Mobiles. The one who likes Apple mobile
does not like MG, BMW, and Audi Cars. H
likes REDMI Mobile. Neither B nor C likes
Apple mobiles. F likes Audi Car and E likes
BMW Cars. G does not like Karbonn
mobiles. The one who likes NOKIA mobiles
likes TATA Cars. C does not like TATA, Ford
and KIACars. Theone who likesMG Cars
does not like JIO and OPPO Mobiles. G does

nat ivae Taclaa Aand Eard CAave
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Persons | Mobiles | Cars Who among the following likes Ford
D 110 Ford Car?
H REDMI | MG (a) B
F Realme | Audi (b) A
E VIVO | BMW (c)D
° NORIA ~ATA (gg‘? Eone of these
‘; fﬂfﬂn” ;‘IA Who among the following likes Apple
PP vota ! Mobiles?
C OPPO Tesla (a) A
(b) G
(C) The one who likes Toyota Car
(d) The one who like Tesla Car

lg\ DAth lh\ AN
DULTI \(M ) UL Tu

Who c among the o(lowmg likes Tesla
Car?
(a) A
(b) G
(c) C
(d) D

(aY NAarna ~f Fhoaco
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Persons | Mobiles | Cars
J10 Ford

Which of the following information is
correct about A?
EES::L dei (a)A likes Apple mobiles
v[{rm Sy (b) A likes Karbonn mobiles
~okiA T TATA (c) Both (a) and (b)
(d) A likes Toyota Car

Karbonn | KIA
(e) None of these
Apple Toyota

OPPO Tesla

Q| |mmm|z|0

Four of the following five are alike in a certain
way based on a group, which of the following
does not belong to that group?

(a) c- OPPO
(b) A- Karbonn
(c) A-KIA

(d) H- MG

(e) B- Realme

)
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Statements

Only a few Goodday is Marie Gold
All Marie Gold is 50-50

No 50-50 is Tiger

Conclusions

a) All Good day can be 50-50

b) Some Marie Gold is Tiger

c) All Good day is Tiger

d) Both A and B

e) None of the above
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Statements

Some Pasta is Rice

Only a few Rice is Cereals

All cereals are meat

Conclusions

a) All Pasta can never be cereals
b) Some Meat is Pasta

c) All Rice can be cereal

d) Some Meat is Rice

e) None of the above
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Statements

All Palm oil is Groundnut oil

Only a few Groundnut oil is Mustard oil
No Mustard oil is Olive oil

Conclusions

a) All Palm oil can never be Olive oil

b) Some Olive oil is Groundnut oil

c) No Palm oil is Mustard oil

d) Some Groundnut oil can be mustard oil
e) None of the above
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Statements

No Bookshelf is Dressing table

No Dressing table is Mirror

Only a few Mirrorsare Curtains
Conclusions

a) All Dressing tables can be Mirrors

b) Some Mirror can never be Bookshelf
c) Some Curtains are Bookshelves

d) Some Bookshelf is not Mirror

e) All books are Curtains is a possibility



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Only a few Coffee is Tea

No Tea is Juice

Few Juice is Milk
Conclusions

a) Some Milk is Tea

b) All tea can never be Milk
c) No Coffee is Juice

d) All milk can be Coffee

e) None of the above
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Eleven pillars are kept at some distance with each other. O is 3m north of B, which is
1m west of A. D is 2m west of F. H is 8m west of G, which is 5m south of F. C is 4m
west of E, which is 5m south-east of A. I is 10m east of J, which is 6m south of H. E
is 3m south of D. m@ﬁwq&%#w@wwmél O,BHF 33w # & &t
AF 17 uaw & &1 D, F & 2 qRadA & &1 H, G ¥ 8+t uiXas & &, I F & 53 gf@or
ABNCEFAMIRTA AR NAFSASAUTE AN LIF 10N @A STHF
6+ fayor & 1 E, D & 3+ f&or & g

What is the position of H with respect to A?
A.South

B.South-east

C.South-west

D.West

E.North-west
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X If the person walks 8m towards the north from point |,

then in which direction is he from point C?
A D 2m F A.East

3m 3m B.Northeast

C.Northwest

D.Southwest

H sm 'G E.None of these

3m

ém

3 10m Find the odd one out?
A.BI

B.AI

C.0C

D.AG

E.CE
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Ql. Statements:P>Y<H=2U>T=N
Conclusions:
LP>UILN<H

Q2. Statements: A=2S>D=C2V>F>G=2H
Conclusions:

LV<DI.H=V

Q3. Statements:F>G=2T=2zH>Y, TsL=J <K
Conclusions:

LJ>HILJ=H

Q4. Statements:B>N=2M=K>L W=E=B,Q=W?>A
Conclusions:
I W>MIL Q=K

Q5. Statements: C>V=B>N=2MK=sL=0=sP<V
Conclusions:

LO<CI.B>L
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There are seven members S, T, U, V, W, X and Y in a family among them only 3 females. S is married
to V. W is grandson of V who has two children. U is sister in law of Y who is unmarried. X is brother in
law of S who is mother inlaw of U. t& 9R@R & &1 @& S, T, U, V, W, X 33X Y, & & Faa 3
Afgeme &1 S, VE Rafea &1 W, var 9ar & oras & 9= &1 U, Y R{eex s of & ot sf@arfka &1 X, s &
§eY T o ¢ ot U I ¢

How X is related to Y?
(a) Uncle

(b) Brother

(c) Mother

(d) Sister

(e) Grandson

Who among the following is the father of W?

(a) U
(b) T

(c) X
(d) Y
(e) None of these
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